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Evaluate the following expression on your own, without anybody’s help: || ’37 7 {
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Without order, there is chaos. Math cannot have chaos, so logically there must be an order. The order of
operations (sometimes knows as BEDMAS) gives the structure or algorithm to solve mathematical questions.
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The order is:
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In Math, you are usually given an aIgebreLlic expression which you need to use to solve given certain values.
When you substitute numbers into letters, always do so with parenthesis ().

Example: Solve the following two expressions given X=4 and y =-2.

_..t— /hu/}'.’ol‘/
2) By —x* -y g\f\aa‘”{’mi b) (x=y)(x+Y)

- o3 - (YEDR (&) (19 ()

- -2 -6+ 2
‘ = (&)(3)
B -2

) 1".; M |II #"10 JI/

]

Application: Jimmy went to Tim Horton’s during their “Roll up the Rim” season and won a bike. However, in
order to get the bike, he had to answer the following skill testing question: 4+4 +2x (3+1) . Jimmy answered
16. Did he get the bike?
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